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ENGLISH VERSION

Instructions : (1)  All questions are compulsory.
(2) Marks are denoted on right side.
1 (a) Explain the method of construction of cost of living index 8
number.
(b)  For the given data, by taking year 2010 as base year construct 12
cost of living index number by total expenditure method and
by family budget method.
2010 2015
Item Unit Quantity | Price (Rs.) [Price (Rs.)
A Kg. 30 Kg. 4.00 6.00
B Kg. 8 Kg. 6.00 8.40
C Kg. 5 Kg. 5.00 12.00
D Kg. 4 Kg. 25.00 40.00
E Meter 20 Mit. 4.00 10.00
F Liter 15 Lit. 2.00 2.80
OR
1 (a)  Explain the tests of Index Number. 8
(b) For the given data find I, Ip, Iy, Iy and Ipp. 12
2015 2017
Item Price Total Price Total
Expenditure Expenditure
\Y 60 6000 70 7350
E 40 3400 50 4750
D 38 646 96 3264
A 10 150 10 150
G 118 14986 120 15600
2 (a) Explain the components of Time series. 8
(b)  For the given data fit a second degree parabolic (quadratic) 12
equation by method of least square. Find estimated production
for the year 2018.
Year 2009 | 2010 [ 2011|2012 | 2013 {2014 | 2015 | 2016 | 2017
Production
(In thousand tons) 2 6 / 8 10 & I 10
OR
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2 (a) Explain in detail method of moving average. 8
(b) For the given time series find short-term variations, seasonal 12
variations and irregular variations by method of moving average.
Year (O | Oy | O3 |9y
2014 (70 | 75 172 | 79
2015 (72178 | 75 | 78
2016 [ 75180 | 74 | 72
2017 (80 | 85 | 78 | 77
3 (a)  Explain difference between population inquiry and sample inquiry. 5
(b) For a population the observation are 2, 4, 6, 8, 10 and 12. 10
Obtain random samples of size 4 without replacement prove that :
(1) Sample mean is an unbiased estimator of population mean.
— 1 o)
(2) V(y)—(n N)S
OR
3 (a)  Explain stratified random sampling method. 5
(b) Find missing values. 10
Strata | Size of Strata | Size of Sample | Sample mean | Sample variance
| - 30 2000 -
I - 20 8000 20
I 100 10 23000 50
N =600 y,, =7500 V()_’st) =0.45
(a)  Explain linear programming. 5
(b) Maximize the objective function z =35x+ 8y by method of 10
graph with following :
Constraints : 12x+18y <180, x+y <10, x =2,
y=23, x20, y=20.
OR
(a) Explain types of Association of attributes. 5
(b) Following is the data for boys and girls regarding their 10
Marital status and success in examination.
Boys Girls
Total Candidates 1600 400
Married Candidates 300 100
Successful Candidates 1240 240
Unmarried and successful Candidates | 1100 200
Find coefficient of association between marital status and success in
examination for boys and girls by Yule's method.
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